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© BASICTRIGONOMETRIC IDENTITIES

e If P(¢) is a trigonometric point, then

sin A tan
mOE = cost, mPE - sin 1. ¢
P — B D/
mAC — tant, mBD = cot ¢, a el
| e i o
mOC = sec t, mO0D = csct.
e st basic identity: t

y 0 E JA cos
l sin?t+ cos?t =1 l

F e Other basic identities:

1 + tan? t = sec? t l 1 + cot?t=csc?t i
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1. Verify the three basic identities when t = %
2 2
com oem (1 £]=1 3_
sin 6+cos 3 [2]+ 2 4+4 1
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1+ tan - 1+ 3} 1 5" sec” = o T (£>2 373
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3 1 1 1
t2£= ——| = —=4- 20 = - = ==
1+ co % 1+[J§] 1+3=4;csc g (%)2 T 4

2. Using an angle measure t of your choice, expressed in radians or in degrees, verify the three basic
identities.
Various answers.

3. Use the appropriate basic identity to calculate
a) sin t, knowing that cost :% and 270° < t < 360°.

e o] 2, _ 16 o=,
sinft=1-cos“t o5 = sint=—¢

b) cos t, knowing that sint = %—(11 and 90° = t =< 180°.
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cos?t=1-sin?t TR %0

) tan t, knowing that sect = :‘? and 180° < t < 270°.

9 3
2 — 2 - = — = —
tan’ t = sec’ t - 1 TE =tant 4

d) cot t, knowing that csct = —_11—% and 270° < t =< 360°.

PP S ) -
cot“ t = csc“ t 144¢cott 12

e) sec t, knowing that tant = -272 and 180° < t =< 270°.
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sec tan 576 = sect 24

f) csct, knowing that cott :% and 0° = t < 90°.
25 (sC 5

A= 3

csc?t=1+ cot? t =
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